[image: image1.jpg]Problem 7.55 7.55 through 7.58 Determine the principal planes and the principal stresses for
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[image: image2.jpg]Problem 7.61 7.61 For the state of stress shown, determine the range of values of 8 for which the
itn" 7 S, g normal stress g;-is equal to or less than 20 ksi.
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Problem 7.145 7.145 The strains determined by the use of the rosette shown during the test ofg |
machine element are \
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[image: image4.jpg]7.158 The grain of a wooden member forms an angle of 15° with the vertical

‘i ”( Problem 7.158 For the state of stress shown, determine (a) the in-plane shearing stress parallel
to the grain, (b) the normal stress perpendicular to the grain.
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[image: image5.jpg]the state of stress shown, determine (a) the in-plane shearing stress parallel to the

§ m Problem 7.158 7.158 The grain of a wooden member forms an angle of 15° with the vertical. For
grain, (b) the normal stress perpendicular to the grain.
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